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! 4 o o 2
51 0. 1 vewef M milsnhmuuTnasinsnszsen 175 w4

(Four-pole squirrel-cage induction motor)

[] [ — ) ¥
sl n. 2 wowef I mieniwuylnwesnsinssson 175 W 4 47

(Four-pole squirrel-cage induction motor)
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s1lii 0. 3 wewed Ifhwmileniwuuvaaiaiusenlsmes 175 w3 ola

(Three-phase wound-rotor induction motor)

q1fi 0. 4 wewed IMAuwmileniwvuveaaiusenTsnes 175 w 3 e

(Three-phase wound-rotor induction motor)
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1 ; o 4 -
51lfi . 6 uamsmInagsVeAe I mitsniuunlsmesnsanszsen

evImAIAIUNIYBIAYRIAAIAIADS

{The DC test for stator resistance)
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310 0.7 uamsmsveaeunemes Ithmidsniwoy Ineesnsnszsen

Tuan12e 1413 1vae (The no-load test)

= 7 P [ @ o
51l 0. 8 uansmsnaouvowes M wlenivwusemaiusouTsmes

Tuemaz it Tvaa (The no-load test)
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51t 0. 9 umasmsmaaouvBmed Ifhmilsnivuulsmesnsenszson

luanmeiiIvan (The load test)

5 P=1 o o ) o
s 0. 10 wamsmsnegeuwemed Wihmisninwuvaniaiusen Tnaes

luan1zii Ivan (The load test)
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=y d :; -] d
midnsizRteyanames IWfhmilenivuulnnsinssnszsen

Calculate :

POy | o.Gem) | Vo (V) [ LG8 £(Hz) | F(poles)
175 1360 360 0.52 50 4
AU RS AT R DIF LN A5 UE A6 = 0.7
HUIALLSICTU I XA DI B BT WA R = 220

QUIAASEILE R AnuDa s DU amm =
AUIAWGHAL N ARY TSI Us AvyR =

—» 1500

rpm

T ® <5

Vnc Al - ! !
Ing 0125 0.24 0.35 045 0675  |A
Ve 60 70 -§0 90 100  |v
Iy 08 0.875 0.975 1.05 1475 |a
Calculate :
] Ve
Stator resistance Ri=—=—|— 4255 £
2l
Vo 10 20 30 40 50 Y
R, 40 H 67 42,86 44 44 37.04 0
Ve 60 70 &0 a0 100 v
R, 375 40 4103 42.56 4255 o
Ry — 40835 0O
55 LU ] " S ] o [] g q.. o
31]11 U 1 UUNOWARATT YDIUBDIADT UDZN1THIAANIUATHUNTUIIYAYATIANTIALA DT



Calculate:
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Lm 0.06 016 019 0.075 0.4 A
Ly 0.06 046 048 0.275 04 A
AL 0.05 012 0.155 0.23 0.35 A
W 2 4 -5 -18 35w
A 2 10 27 52 80 Ui}
Nl 0 [ 1386 [ 1484 1493 | 1485 |rpm
+ L+l
Ly = Ix.m. 38T ML)y g3g A
3
P =P =W+Wy| > 45w
Pioams = BI‘.EIL:RII - 1807 W
IPiu.N'I. = PICH.NL-I' (PBIII+ pW) l
an"’ Prg =P, ‘P:cnm.l —» 2693 W
V§L 200 - 3000 380
Vi 40000 | 90000 144400
Font Prel B T T

s v, 2 msmdnrwgadeluanie il Tnoana (The no-load test)
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Neasure

Calculate :

@, 2m, 2m, |—> Taam 1226 N
60 = 123 N-m
vi[Em v
oed (8 | Ton ()] TG LA [ LAy | P [ e
g ol ¢ 0.4 0.4 0.33 &7 1484
25 03075 | 045 045 035 115 1452
80 0 0E15 - 05 0.5 0.4 173 1437
7E L0835 - 0.6 08 048 225 1409
00 ¢ 123 07 07 055 283 1376
T-aun(N'm) Il(‘a;
n L{&)
a,Gpm) LCAY [
+1,+
I, = L l; L — 085 A
21,
Pon'r= 'I'lhﬂm:= 'I'lhﬂ 60 —> 17715 W
Pscu =13 I[.]Rl —r 51.96 w
n, -n,
Pu =Pa-Peeo-Pue| = 20481 W §=——F|—> 0087
- e w
— 10585 W
{Re.—..y =D car~Faoa T e T P + o) 4 - 10,05 W
Pllf 9,
=3 x100% — 5280 %

51 4. 4 msmanwgadeluaniizli Tvan (The load test)
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N . Mo-Load . | Ondgsd | Onsboad -OnlLoad - FuflLoad -
o \Condi : il Bl =030, -
Pover ¢\)1Condions. ——= o 5% 50% 75%
 Pa 45.00 11500 173.00 225.00
B 0.00 47.05 92,50 136,05
P..... 45,00 67.95 80.50 88.95
| 26.43 26.43 26.43 26.43
Peew 1807 2135 2678 38.57
Py 0.00 170 503 9.71
Pe 050 050 050 0.50
Py 0.00 1796 21.76 1375
Lossesﬂmjlmadmg(%}y Coa 25 ) 75
1 2643 2643 25.43 26.43
16.07 2135 2678 3657
0.00 170 503 9.71
050 050 050 050
0.00 17 96 2176 1375

4 1 2 4 ° 3
g 2. 5 wemsnsaglmanugyideluvemes Ivdunilsniwwn Inwesnsnszsen
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Loading Vs Losses

Losses (W)

0 25 50 75
Loading {%)
—4—Core loss

~8— Stator copper loss
—a—R otor copper loss

—a—Frictionwindage losses

—=— Shay load loss

100

Losses in a Squirrel-Cage Induction Motor

Stray load loss,
10.05, 9%

Friction-windapge
losaes,
0.50, 0%

Rotor Y
copper loss, 3
16.51, 16%

Tunawes I mileninuulanesninszson

A o a o o
LHBUBW DTN IR UNNA (Full load losses)

51 4. 6 Armuganiodieg Han1az Tvans 0-100 % uassanugapdodiuiovay




a dy a4 o @ d
msinserideyavames IWdumiianinvuvaaraituseulsines

Calculate:

Calculate :
Stator resistance
Ve
R,
Voo
R,

—> 1500

rpm

Fe®) | nGpm) | Va(V) | LA fi(Hz) .| F (poles) .
175 1240 380 0.53 50 4
YU NTEURGIAOY DIAO O 2T UG ADYR = 07 A
PUTEIUSIAU G ARY DIAR BT IS AR = 220 \Y
YUIRATSU I FIFAUDI O DTG RIR = 1 A
YU LSITUFI PR o TSR usi Ry = 110 v

10 . 20. 30 -40 50. - |v
0.1 0.225 0.35 0.45 0575 |A
60 70 B0 90 100 v
0675 0775 0.825 1 14 A
W

Ri=2 1 4545 @
2T,
10 20 30 40 50 W
50 44.44 42 85 4444 4348 |Q
80 70 80 a0 100 v
44 44 4518 48,48 45 4545 |0
Riav — 45373 0Q

or ar

51lf 2.7 dufina#iniaa

1 = o
199 YDjHalA i’)g uazmﬁmmmméfmmummﬂqﬂ VAR IANTILAAD Y
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Vil 10 [~ 100 | 200 [ 3@ [ 380 v
Le 015 013 0.2 03 0.4 A
Live 015 013 0.2 0.3 0.4 &
Lig 0.08 04 0155 025 0.35 &
W, 1 5 25 -20 43 |w
W, 2 10 25 55 98 L
D O [ 1380 | 1466 | 1482 | 1487 |rpm

Calculate

3. ML
- — —» 038 A

Pa=Pn=W+W, > 5 w

Pice =3L'Ry =3L'Ry | — 000 W

IE= Pﬁm_i-(P;:m_‘_PFWjj
1

Pt By = B ~Pics [ - 3500 W
vp,- 200 | 300 3|0V
Vi | 4pepd | sooon | d4don |V
Pt Pra| - Cfo7EA T | 2407 7 3500 W

s v. 8 mamamnugadslueniaz il 1vaa (The no-load test)
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=135 N4

BT n [21111 J T T2m, | Taam 1348 N

— 2

Losd (%) | To, (om)| LAY | LAy [ LA [ F() [ 6tpw
0 0. 0.43 0,43 0.35 70 1471
C 25 - 034 045 0.45 038 123 1430
.50. . aers 0.53 0.53 0.4 178 1380
. 1 | 1m 25- 0.63 063 05 246 1320
CARDT o o435 0.7 0y 055 305 1273
Calculate : ‘
T (N-m) LA [
B,(W) | L(&) ;
I = L I;+ L -~ 085 A

P = T ®=T e [2m,) — 17987 W

60
P,..= 3R, -  5: oW
n,-n
|Pas =Pu-FBiu-Bu] = 21274 W 5= —> 018513

— 3218 W

- 12843 W

Eisa', = P].m'aes - (Ps(ru +PL.m+Prw +Pn(:u )

— D.42 W

P
TI-"-;?MDD% — 5598 %

31 2. 10 MmammanugdolugniziiTnan (The load test)
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T |- No-Load On-Logd On-Load -Ondload. -| Fulllosd
p Y Gondti - ——— 1= ——— —
 Pover ()} Conditions.*——=5 = %% | 50% 75% 100%
P 5500 123.00 178.00 246.00
- P 0.00 50.89 97.50 139.89
P 55.00 7211 80.50 106.11
Fax 3475 3475 34.75 34.75
" Pyea 2000 2478 32.24 4685
Pycu 0.00 2.96 888 1973
Pyg 025 025 0.25 025
Py 0.00 937 438 454
" ossws (M) \ooadng (%) [ 0. | . 25 B [ 75
T Coreless 3475 3475 3475 3475
Statorcopperloss. ° | 2040 2475 32.24 48.85
“Rotof copperioss 0100 296 808 1973
Fricfion-wingagelosses 0.25 0.25 0.25 0.25
‘Stray loadlogs 0.00 9.37 4.38 4.54

1 = 3 o @ 4
v.11 uaasnagldnnugadeluuemed Wi wiisniwuuveaiaiusovTsmes
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Loading Vs Losses

Losses (\W}

Loading (%)

—a—Core loss
—a—Stator copper oS8
—a—Rator copper [oss

—=— Frigion-vindage osses

—==Siray load loss

Losses in a Wound-Raotor Induction Motor

Friction-
windage losses,  Stray load loss,
0.25,0% 0.42, 0%

Rotor
copper loss,
32,19, 26%

3 t ' = 1 = g
g @, 12 meanugapfedien haanaz Tnaa 0-100 % uazdnnugaduiuiovas
Tunowmef IdhmilsnihuuvveainiusonTimed

Honwas MOUALRAA (Full load losses)




